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2 ILN—E5| 3 7 A
X fil fETI7% BT XFH N=H2IxF
EEHE | B5IE | EEE | FEIE EEE  AsIE

1 JAL 12,000 47%| 16,900 25% 1| ER=XK JAL 10,000 56%
2 JAL 12,000 67%| 27,550 25% 2 | EE=1EM JAL 12,000 67%
3 JAL 12,000 64%] 25,150 25% 3 | WE=%L1R JAL 12,000 64%
4 JAL 12,000 71%| 30,600 259 4| ER=MFH JAL 12,000 71%
5 JAL 12,000 45%| 16,450 25% 5 | KErR=1E[ JAL 10,000 54%
6 JAL 12,000 71%] 31,000 259 6 | KBx=#Lig JAL 12,000 71%
7 JAL 12,000 65%| 25,650 25% 7| KER=FFH JAL 12,000 65%
8 | t2m=#LiR JAL 12,000 77%| 38,350 259 8 | t2m=#LiR JAL 12,000 7%
9 | fE=3R% JAL 12,000 56%| 20,650 25% 9 | fBf= %B% JAL 10,000 64%
10| ER=2 5 JAL 12,000 71%] 30,850 259 10| WR=2%&5I JAL 12,000 71%
11| FR= JAL 12,000 70%| 29,650 25% 11| BERER=18JII JAL 12,000 70%
12 JAL 12,000 69%| 29,200 25Y%) 12| WER=HI% JAL 12,000 69%
13 JAL 12,000 69% 28,800 25% 13| RE=_(NbHIA JAL 12,000 69%
14 JAL 12,000 62%| 23,550 25Y%) 14| HFE=FKEE JAL 12,000 62%
15 JAL 12,000 60%| 22,600 25% 15| BR=F%HF JAL 12,000 60%
16 JAL 12,000 59%| 22,150 259 16| EE==iR JAL 12,000 59%
17 JAL 12,000 51%| 18,450 25% 17| BRER=8HE JAL 11,000 55%
18 JAL 12,000 34%| 13,650 259 18| WHE=ILH JAL 9,000 51%
19 JAL 12,000 45%| 16,450 25% 19 | BHEFER=/MA JAL 10,000 54%
20 JAL 12,000 59%| 21,750 25Y%) 20| HRFE=TEHEE JAL 11,000 62%
21 JAL 12,000 60%| 22,600 25% 21| ER=Ml JAL 11,000 63%
22 JAL 12,000 61%] 23,100 259 2| BR=IL5E JAL 11,000 64%
23 JAL 12,000 65% 25,950 25% 23 | ERE=LOFH JAL 11,000 68%
24 JAL 12,000 62%| 23,550 25Y%) 24| BR=HE JAL 11,000 65%
25 JAL 12,000 59%| 22,150 25% 25| =15 JAL 11,000 63%
26 JAL 12,000 59%| 22,150 259 26| EE=5# JAL 11,000 63%
27 JAL 12,000 62%| 23,950 25% 27| EE=# JAL 11,000 66%
28 JAL 12,000 62%| 23,550 25H%) 28| HE=540 JAL 11,000 65%
29 JAL 12,000 67% 27,550 25% 29| BEm= jthJ'I'I JAL 12,000 67%
30 JAL 12,000 66%| 26,700 259 30| BRER=K% JAL 12,000 66%
31 JAL 12,000 69%| 29,200 25% 31| HRER=FIF JAL 12,000 69%
32 JAL 12,000 67%| 27,550 25% 32| HHE=FEX JAL 12,000 67%
33 JAL 12,000 67% 27,550 25% 33| BR=FIF JAL 12,000 67%
34 JAL 12,000 69%| 29,200 25Y%) 4| FR=FERE JAL 12,000 69%
35 JAL 12,000 74%| 34,650 25% 35| HR=EEXXE JAL 12,000 74%
36 JAL 12,000 74%| 34,300 259 36 | RBR=h8JII JAL 12,000 74%
37 JAL 12,000 67% 27,550 25% 37 =5 JAL 12,000 67%
38 JAL 12,000 68%| 28,350 259 38| RBR==iR JAL 12,000 68%
39 JAL 12,000 64%| 24750 25% 39 | KBrR=%kHE JAL 12,000 64%
40 JAL/JEX| 12,000 66%| 26,400 259 40| KiR=7E% JAL/JEX| 12,000 66%
41 JAL 12,000 62%| 23,950 25% 41| KBr=1Li JAL 12,000 62%
42 JEX 12,000 61%] 23,100 259 42| KiR=l&E JEX 11,000 64%
43 JAL 12,000 59%| 21,750 25% 43| KER=%i8 JAL 11,000 62%
44 JAL 12,000 53%| 19,300 259 4| KiR=FI& JAL 11,000 57%
45 | KBR=FEX JAL/JEX| 12,000 49%| 17,650 25% 45| KBR=FEX JAL/JEX| 11,000 53%
46 | KfR==1% JAL/JEX| 12,000 49%] 17,650 259 46 | KfR==1% JAL/JEX| 11,000 53%
47| KfR=ER JAL/JEX| 12,000 55%| 20,100 25% 47| Kir=pF'R JAL/JEX| 11,000 59%
48| KIR=FEKXE JAL/JEX| 12,000 67%| 27150 25Y%) 48| KIR=BEAE JAL/JEX| 12,000 67%
49 | ZEE=#LIR JAL 12,000 68%| 28,000 25% 49| BEHE=4LIE JAL 12,000 68%
50 | ZEE=H#IK JAL 12,000 72%| 31,800 259 50 | BEE=H8IK JAL 12,000 72%
51| REEB=¢(METE | JAL 12,000 71%| 31,000 25% 51| BEE=¢tMETE | JAL 12,000 71%
52| ZAEE=F%H JAL 12,000 63%| 24,400 25Y%) 52| ZAEE=FFH JAL 12,000 63%
53 | ZEE=FfH JAL 12,000 58%| 21,550 25% 53 | ZEE=fH JAL 12,000 58%
54| HEE=TE& JAL 12,000 61%] 23,100 25Y%) 54| ZAEE=TEE JAL 12,000 61%
55 | ZEE=1L JAL 12,000 58%| 21,300 25% 55 | BAEE=ILH# JAL 12,000 58%
56 | HEE=WE JEX 12,000 58%| 21,300 259 56 | AEE={IE JEX 11,000 61%
57| ZEE=%H JAL 12,000 53%| 19,150 25% 57| BEER=%8 JAL 11,000 57%
58 | AEE=#L JAL 12,000 49%] 17,650 259 58 | AEE=L JAL 11,000 53%
59 | ZFEE=5H JAL 12,000 53%| 19,350 25% 59 | FEE=540 JAL 11,000 57%
60 | HEE=1EM JAL 12,000 53%] 19,050 259 60 | HEE=1Ek JAL 11,000 57%
61| FEHE=FIF JAL 12,000 62%| 23,950 25% 61| FEHE=FIF JAL 11,000 66%
62| BEE=FEX JAL/JEX| 12,000 59%| 21,900 259 62| BEE=FEX JAL/JEX| 11,000 62%
63| ZFEHE=FER JEX 12,000 62%| 23,950 25% 63| FEE=FR JEX 11,000 66%
64| HEE=MH JAL 12,000 69%| 28,950 25Y%) 64| HEE=MH JAL 12,000 69%
65| fEE=AlE JAL 12,000 72%| 32,650 25% 65| BRE=IlE JAL 12,000 72%
66 | BE=5 JAL 12,000 49%| 17,800 25Y%) 66 | 12M=%4%0 JAL 9,000 62%
67| t@RE=#AL0 JAL 12,000 42%| 15,600 25% 67| fEE=#0 JAL 9,000 57%
68 | 12M=2I% JAL 12,000 39%| 14,800 259 68 | 12M=2I% JAL 9,000 54%
69 | *LIE=Z% Al JAL 12,000 44%| 16,050 25% 69 | *LIE=Z% I JAL 9,000 58%
70| #IE=FF& JAL 12,000 44%| 16,050 25% 70| #IE=FF& JAL 9,000 58%
71| ALiE=%kEH JAL 12,000 51%| 18,550 25% 71| #LIE=FE JAL 9,000 64%
72| (IE=TE& JAL 12,000 53%| 19,000 259 72| #IE=TE& JAL 10,000 60%
73 | ALiE=1Lf JAL 12,000 59%| 21,750 25% 73| ALR=1L% JAL 11,000 62%
74| #LIE=qL&E JAL 12,000 58%| 21,300 259 74| #IE=qL& JAL 11,000 61%
75| ALIR=IR8 JAL 12,000 74%] 34,300 25% 75| ALIR=IR8 JAL 12,000 74%
76 | #LIE=HZE JAL — — — — 76 | #LIE=HZE JAL 12,000 73%
77| ALiR=fEE JAL — — -— — 77| ALiR=fES JAL 12,000 74%
18| BREE=EXXES JAL 12,000 48%| 17,350 259 18| BERE=TXXE JAL 11,000 52%
79 RE=fZ JAL 12,000 55%] 20100 25% 79 RE=fZ JAL 11,000 59%
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2 JLIN—E|5| EERAERES
XFH fETF T ]R1T XFH N=HI]
EHEE  F5IE | EEHE Z5IE EHEE #5I=E
1| ER=15 JTA 12,000 71%] 30,600 25% 1| ER=15 JTA 12,000 71%
2 | Rix=#% JTA 12,000 65%| 25,650 25% 2 | RKix=#% JTA 12,000 65%
3 | EE=3% JTA 12,000 56%| 20,650 25% 3 | ER=#% JTA 10,000 64%
4 | FE=FIE JTA 21,000 65%| 44,500 25% 4 | RER=H1E JTA 20,000 66%
5 | HR=E%H JTA 21,000 62%| 41,650 25% 5 | ER=E%H JTA 20,000 64%
6 | KER=%H18 JTA 21,000 57%| 36,300 25% 6 | KER=%H18 JTA 20,000 59%
1| RKr==% JTA 21,000 55%| 35,100 25% 1| Rr==%& JTA 20,000 57%
8 | ALE=FHIE JTA 21,000 60%] 39,750 25% 8 | FEHE=FRIE JTA 20,000 62%
9 | M=% JTA 12,000 71%| 30,600 25% 9 | M=% JTA 12,000 71%
10| FHE=HF JTA 12,000 69%| 28,950 25% 10| EHE=H% JTA 12,000 69%
11| EL=3B% JTA 12,000 65%] 25,650 25% 11| FEL=3B% JTA 12,000 65%
12| MLU=FBF JTA 12,000 62%| 23,500 25% 12| SMLU=FBF JTA 12,000 62%
13 tAM=HF JTA 12,000 56%| 20,650 25% 13 SEAM=HF JTA 10,000 64%
14| REF=F1E JTA 12,000 48%| 17,250 25% 14| WEHFE=H1E JTA 9,000 61%
15| BHE=EH JTA/RAC| 12,000 31%] 13,150 25% 15| WHFE="H JTA/RAC[ 8,000 54%
16| REE=E®H JTA/RAC 8,950 25% 8,950 25% 16| AE=E%& JTA/RAC|] 6,000 50%
17| BME=AXKE JTA/RAC 8,850 25% 8,850 25% 17| MBE=AXKE JTA/RAC 6,000 49%
18| AiE=5EF JTA/RAC 8,850 25% 8,850 25% 18| RiEE=57E JTA/RAC|] 6,000 49%
19| WHF=53® RAC — — — — 19| BE=5H RAC 7,000 51%
20| MB|=FEXE RAC — — — —— 20| MB|=FEXE RAC 10,000 57%
21| MB=FAAR RAC — — — — 21| MEB=FAAR RAC 10,000 60%
22 | BE=JtXE RAC — — — —— 22 | BE=JKXE RAC 10,000 60%
23| ARE=IXE RAC — — — — 23 | AARE=LKXE RAC 5,000 40%
24| EH=%EM RAC — — — — 24| EH=%EM RAC 5,000 41%
25 | BE=5FE RAC 12,000 62%] 23.800 25% 25 | BE=5FE RAC 10,000 68%
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2 JLIN—E|5| EERAERS
XH fETFIF#% ]R1T XFH N=HI]
EHEE  F5IE | EEHE Z5IE EHEE #5I=E
1| Kx=%EM[ JAC 12,000 45%| 16,450 25% 1| KBR=1EMH JAC 10,000 54%
2 | AR=%i5 JAC 12,000 59%| 21,750 25% 2 | AiR=%i5 JAC 11,000 62%
3 | Rir=1EM=E>HL | JAC 12,000 48%| 17,250 25% 3 | Rir={EM=E>HL | JAC 12,000 48%
4 | Kir=19/MEE JAC 9,300 25% 9,300 25% 4 | Kr=19/MEE JAC 6,500 48%
5 =2 JAC 12,000 46%| 16,750 25% 5 =R JAC 12,000 46%
6 | KER=HZE JAC 12,000 38%| 14,400 25% 6 | RKIxR=HZ JAC 10,000 48%
7 Br=#211 JAC 12,000 29%[ 12,750 25% 7 Br=#311 JAC 9,000 47%
8 | KER=K% JAC 12,000 38%| 14,500 25% 8 | RKix=K% JAC 11,000 43%
9 | Kir= E.ﬂﬁ JAC 12,000 49%| 17,650 25% 9 | Kir= E-.uﬁ JAC 11,000 53%
XE=ERE JAC 12,000 55%| 20,100 25% XE=ERE JAC 11,000 59%
ABr= E%% JAC 12,000 63%| 24,450 25% Air= E%% JAC 12,000 63%
mE=EMNE>EE | JAC 12,000 66%| 26,400 25% mE=EMNE21E | JAC 12,000 66%
BE=HE JAC 12,000 53%] 19,000 25% ER=HE JAC 12,000 53%
EE=1E JAC 12,000 51%] 18,550 25% EE=1E JAC 12,000 51%
a2l == & JAC 12,000 39%| 14,800 25% a2t == & JAC 9,000 54%
EH=FRE JAC 12,000 35%] 13,950 25% ER=FRE JAC 9,000 52%
FLIE=1EME2HE | JAC 12,000 66%] 26,700 25% FLIER=1EME2HE | JAC 12,000 66%
HE=[2IF JAC 9,250 25% 9,250 25% HE=[ZiK JAC 8,000 35%
r"%ﬁ =% JAC 12,000 49%] 17,800 25% r"%ﬁ =% JAC 12,000 49%
RE=MEL JAC 12,000 59%| 22,150 25% RE=FWL JAC 12,000 59%
JE'E% LE JAC 12,000 49%| 17,800 25% JE'E% L& JAC 12,000 49%
BRE=5K JAC 12,000 59%| 21,750 25% ERE=5 JAC 12,000 59%
ERE=#0 JAC 12,000 53%] 19,300 25% BRE=%L JAC 12,000 53%
ERE=FE JAC 9,450 25% 9,450 25% ERE=1FE JAC 8,000 37%
BERE=EAE JAC 10,450 25%] 10,450 25% BERE=EAE JAC 9,000 35%
ERE=BEXXE JAC 12,000 48%| 17,350 25% ERE=BEXXE JAC 11,000 52%
BERE=ERE JAC 12,000 51%| 18,250 25% BRE=ERE JAC 12,000 51%
BRE=HXEH JAC 12,000 59%| 22,150 25% BERE=4KxEE JAC 12,000 59%
BRE=5 JAC 12,000 61%] 23,250 25% BRE=5 JAC 12,000 61%
BEXE=ERE JAC 7,150 25% 7,150 25% BEAE=ERE JAC 6,000 37%
BEXRE=fEZE JAC 10,000 25%| 10,000 25% BERE=EZE JAC 8,500 36%
BEAE=KBEH JAC 12,000 29%| 12,600 25% BERE=HKEE JAC 11,000 35%
MK REI=5 R JAC 7,500 25%] 7,500 25% PABEH=5H JAC 6,500 35%
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EHEE  F5IE | EEHE Z5IE EHEE #5I=E
1| ALiE=HI HAC 12,000 39%| 14,800 25% 1| ALIE=HI HAC 9,000 54%
2 | EER=FI% HAC 12,000 39%] 14,800 25% 2 | E¥%=8IK HAC 9,000 54%
3 | ALIR=pKfE HAC 12,000 29%| 12,600 25% 3 | *LIR=pKEE HAC 9,000 46%
4 | E¥=pHEE HAC 12,000 29%| 12,600 25% 4 | BE¥=KEE HAC 9,000 46%
5 | BEEE=hBJII HAC 12,000 35%] 13,950 25% 5 | EEE=hBJII HAC 10,000 46%
6 | BREE=HIK HAC 12,000 53%] 19,350 25% 6 | BREE=HIK HAC 10,000 61%
7| BEE=Bp HAC 11,800 25%] 11,800 25% 7| BEE=B/ HAC 9,000 43%
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